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307 elztol & 225,624 219,052 6.572
Il 112,812
Ea 112,812
02 2B YAIHE A 225,624 219,052 6,572
1) B 2| | K| = XHH X
225,624,000 225,624
Il 112,812
o 112,812
UM SN S EES(BX) 1,148 1,148 0
Il 574
= 574
307 elzto| & 1,148 1,148 0




SH: AYBED
M MsdE
el MsdE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Il 574
s 574
02 2IZHB A E £ 1,148 1,148 0
NYEMB S KNS EREE
1,148,000 1,148
Il 574
Ea 574
HEMMEH S S (EX) 290,088 281,636 8,452
Il 145,044
o 145,044
307 212+01& 290,088 281,636 8,452
Il 145,044
= 145,044
02 LB HAHE L 290,088 281,636 8,452
DIGESRSREE=Po EoPNE=PNL PN
290,088,000& 290,088
Jl 145,044
Ea 145,044
HEMMEHSX NS SEEZ(EX) 1,476 1,476 0
Il 738
[ 738
307 212+01™ 1,476 1,476 0
2l 738
T 738
02 2B A HE L 1,476 1,476 0
NOHEMMEHSICANESEEE
1,476,000& 1,476
Jl 738
o 738
HEHSN 2SS 173,500 162,956 10,544
307 @120l & 173,500 162,956 10,544
02 QB AHANEEX 173,500 162,956 10,544
NAESHSX 2SI
173,500,000 173,500
MBS A EXNHRHLA(EX) 19,200 19,200 0
= 7,680
= 11,520
307 elzto| & 19,200 19,200 0
= 7,680
Ea 11,520
02 2B YA R E £ 19,200 19,200 0
DYEHST =AM LML (RS2 EHI)
100,000 x 16 =122 19,200
s 7,680




SH: AYBED
33 MEdE
el MsdE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 1,520
HE2dst 1,279,000 600,000 679,000
307 21201 & 1,279,000 600,000 679,000
02 LB AANHEE 1,279,000 600,000 679,000
NEHMSUSIHE XA 376,300,000 376,300
DES k= PIoNE 324,000,000 324,000
NASHSUHEIEIILONE XA
189,000,000 189,000
NZUEd=S8X2 85,500,000 85,500
NSeMsaLN 130,500,000 130,500
NaUesdXA 58,500,000 58,500
NESHHESH 43,200,000& 43,200
NIJIZEHIXA 18,000,000 18,000
NHEIds2sK 54,000,000 54,000
LM B 100H B A SHH2S (EX) 226,640 203,640 23,000
Jl 142,548
= 84,002
307 glztol & 226,640 203,640 23,000
Jl 142,548
o 84,092
02 2IZHBYAIHE £ 226,640 203,640 23,000
NAHHEASHHSS XA
226,640,000 226,640
Jl 142,548
s 84,002
oI =3t 49,000 47,000 2,000
307 212+01& 49,000 47,000 2,000
02 2B HAHE L 49,000 47,000 2,000
NEtEEHMAMSUHE
26,000,000 26,000
NS HMAMSHFUHS
16,000,000 16,000
NASHOHUHSHEI BN EI X &
5,000,000& 5,000
NS sSs2sAH
2,000,000& 2,000
SMAILIOIBIS B (EX) 295,000 295,000 0
= 20,000
o 275,000
307 @20l & 295,000 295,000 0
s 20,000
s 275,000
02 QB HANEER 295,000 295,000 0




SH: AYBED
33 MEdE
&2l HsdE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NECHSHIAY HEIX2
295,000,000 295,000
= 20,000
Ea 275,000
HISE43H(2X) 310,000 245,000 65,000
== 5,000
o 305,000
307 212+01& 310,000 245,000 65,000
[ 5,000
T 305,000
02 LB HAHE L 310,000 245,000 65,000
NEtEEaMUS MBS BRI
170,000,000 170,000
NAIHH U AN AT SHYBFS TSN R X &
50,000,000 50,000
=S 5,000
s 45,000
1)OINIS 4B H GH= & S 00 S CHE
70,000,000 70,000
Aot A AL =T G SBT3
20,000,000& 20,000
ZSStdbtsnd =g 75,000 55,000 20,000
201 fer= 3| 4,000 5,000 21,000
01 At 2|l 4,000 5,000 21,000
NEHSRANSHH(HISHAE, LHS)
4,000,000& 4,000
301 EtE NS 71,000 50,000 21,000
14 IIEt2 8= 71,000 50,000 21,000
IS ZAII A (ZALZ , ZAHEHI)
45,000,000& 45,000
DUIS2ZAIS 2] 26,000,000 26,000
AR REIRRAI2 115,270 217,400 102,130
101 ©1AH| 8,100 8,100 0
M ORNZZ2NSE S 8,100 8,100 0
NAZXEH2EZFHI QI
45,0003 x5 *36L 8,100
201 er23 | 103,170 85,300 17,870
01 At2teltl 1,170 1,300 A130
NAZXEIR2HARE 1,170,000& 1,170
02 S3=gl 102,000 84,000 18,000
NAZXEIR2Y 8,500,0002 122 102,000
401 AIEHIZ SR THYI 4,000 124,000 120,000
01 AlZ8| 4,000 124,000 120,000
NAZXEL2EZTHIZHIAIS
250,000& * 162 4,000
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el MsdE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SSHFAIERX 2 241,605 135,680 105,925
101 @124H| 6,546 0 6.546
M ORNZZE2NSE S 6,546 0 6,546
NEYMSAIZ&8ZEH 2]
86, 1302 x4 x 193] 6,546
201 ger=3| 154,059 119,680 34,379
01 AtR2te|H] 7,035 7,000 35
NHSALEXN(ZRML) A2
7,035,000 7,035
02 S5=24g4l 147,024 112,680 34,344
Negd(=23d)2< 400,000 123 4,800
NLEH=LHSUE2SE
470,000 12& 5,640
NSEH=MSUELPGEEE
600,000& * 122 7,200
NEYANIESE2Y
5,832,000& «12& 69,984
NEHNSANE(2SES)2Y
225,000 +220 A+ 122 59,400
401 AIZHIX 20HH 81,000 16,000 65,000
01 A28l 81,000 16,000 65,000
NSBHSANERRE> 16,000,000& 16,000
NotA2SI AR
3,000,000 59K A 15,000
NARHZOIHFS2ATI AL E 4
20,000,000& 20,000
NACHESEHSSALEE >
30,000,000& 30,000
MBUXNHIOIHSUEHE (EX) 954,880 1,526,000 A571,120
401 Al HIZL S 0HYI 954,880 1,526,000 A571,120
01 Al&HI 951,880 1,223,000 N271,120
NAHHSEMURAIVHSUH ALY
951,880,000 951,880
03 AIZ2THYI 3,000 3,000 0
NYEHH=S U USROS AE
3,000,000 3,000
NESENIE I HSHEHAE (EX) 838,670 2,578,000 1,739,330
401 AIEHIZ SR HYI 838,670 2,578,000 1,739,330
01 Al&HI 835,670 2,275,000 1,439,330
NARHZ B R AINI S AE
835,670,000 835,670
03 Al 2 CHHI 3,000 3,000 0
NAHZBICHHISRIXSHHAE
3,000,000 3,000
HSHIZMEHLADHSZAHE(ERX) 3,846,000 369,000 3,477,000
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&2l HsdE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 3,846,000 369,000 3,477,000
01 Al&H| 3,800,000 200,000 3,600,000
NHISHIZUSEIDMSUHAL [P
g] 3,800,000,000& 3,800,000
02 Zeltl 45,000 168,000 123,000
NHISHZ B UEF RS AE
45,000,000 45,000
03 AlE220HHI 1,000 1,000 0
Nolagz2eide |=dIE
1,000,000& 1,000
MASRAMSAIL L (HEA) 454,000 0 454,000
= 450,000
Ea 4,000
401 AIEHIX 20 454,000 0 454,000
=S 450,000
s 4,000
01 AlZ8| 450,000 0 450,000
NASSRAMSAIEERS
450,000,000 450,000
< 450,000
03 A& S THYI 4,000 0 4,000
NASSRAMSAIEERS
4,000,000 4,000
H22SEEIE(HEAY) 750,000 0 750,000
= 225,000
= 525,000
401 AlEHIZ 201 750,000 0 750,000
= 225,000
Ea 525,000
01 A28l 747,000 0 747,000
2 STUXNCIYSAEHLR
747,000,000 747,000
== 225,000
o 522,000
03 Al 20HHI 3,000 0 3,000
RS SRIENCIYSAEHST
3,000,000& 3,000
NEEREH Y (HEAY) 150,000 0 150,000
= 45,000
o 105,000
401 Al HIZ S OHbI 150,000 0 150,000
s 45,000
s 105,000
01 Al&HI 150,000 0 150,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
DANESPEES 150,000, 0002 150,000
= 45,000
2 105,000
AlOHROI TS M E ZHOHOI B 0| Al D 4 (2 ) 20,000 0 20,000
401 Al&IEI 22 CHE] 20,000 0 120,000
01 Al 118,000 0 118,000
1) A1 QFR0IH S HOHOIB Ol Al & If 2 4
118,000, 0002 118,000
03 Al& 2 CHH| 2,000 0 2,000
1)1 QFR0IH SAIE OO O Al & f 2 4
2,000,002 2,000
NS ECSIEVEEES) 20,000 0 20,000
= 6.000
2 14,000
401 Al&IEI L2 CHE] 20,000 0 20,000
= 6.000
2 14,000
01 Al 20,000 0 20,000
DRISIVEEESIEE b
10,000, 0002 520H 4 20,000
= 6.000
2 14,000
MUEFZUSZZIBXA(2X) 77,700 0 77,700
8] 54,390
2 23,310
307 S12+01 77,700 0 77,700
| 54,390
2 23,310
RIS PONETEES 77,700 77,700
DALEEZZ S T2 2K
77.700,000% 77,700
54,390
2 23,310
HIS IS E I (F212010f &) 55,000 55,000
401 Al&EI L2 CHE] 55,000 55,000
01 Al&H 55,000 55,000
DX 2l Oh2sle 2517 &X)
20,000,002 20,000
NN SIS Y2Y 2SI &
10,000, 0002 10,000
NEZ HAlE 25017 &1
10,000, 0002 10,000
DHSAIL 2D A
5,000, 0002132 2 16,000
HHEAAH| (LS D) 84,934 1,858
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HH: HESAAY| (ALEH W)
s lIEE2ghl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
el 2| 62,554 62,076 478
el 24| 62,554 62,076 478
101 @124H| 62,554 62,076 478
01 2= 62,554 62,076 478
NAIZIeI2R2+E(62)
12,8443 x5 x30A[ 2+ 123 23,120
NARIIZR:=Z(72)
11,6022 x5 *30Al 2t 122 20,884
NAlZte 2R+ (82)
10,4162 x4 *30A1 2t 122 15,000
NAIZI2IZ2R2+2(92)
9,860 1 *30Al 2+ 123 3,550
Jl=23sl 22,380 21,000 1,380
JI23Hl 22,380 21,000 1,380
201 et 3| 3,360 3,480 A120
01 AtR2tc|bI 3,360 3,480 A120
M2 AIR2EI 120,000 28 3,360
202 04l 13,440 13,920 A480
01 2LHoIH 13,440 13,920 2480
NEMSE=U0I
60,0002 x 16 2«83 7,680
DEEESISEES e
60,0003 » 122 <82 5,760
203 =4l 5,580 3,600 1,980
M FA2ELRFAI 5,580 3,600 1,980
1)3021015t 400,000 <123 4,800
1)31210/ & =1t 5,0002 %138~ 122 780




